

$$\log_n^m = a \Rightarrow \frac{\log m}{\log n} = a, \quad \log_{m_n}^r = \frac{r \log m + \log n}{\log m + \log n} = \frac{r(a+1)}{a+1} = b$$

$$\Rightarrow \frac{a+1+a}{a+1} = b \Rightarrow 1 + \frac{a}{a+1} = b \Rightarrow [b] = 1$$

۱

الف) $\frac{x}{\log \frac{1}{x}} > 0 \Rightarrow x > 0, x > 0, \log \frac{1}{x} \neq 0 \Rightarrow x \neq 1$ $\left| \frac{-1}{-1} + \frac{1}{-1} \right| \Rightarrow (0, 1)$

ب) $x^2 - x - 2 > 0 \Rightarrow \Delta = 9, x = -1, 2$ $\left| \frac{-1}{+1} - \frac{2}{-1} \right| \Rightarrow (-\infty, -1) \cup (2, +\infty)$ $\odot$
 $x^2 - 1 > 0 \Rightarrow x > 1 \Rightarrow (-\infty, -1] \cup [1, +\infty)$ $\sqrt{x^2 - 1} + 1 \neq 0 \Rightarrow \begin{cases} \text{مجموعه صفر نبرد} \\ \Rightarrow D = \mathbb{R} \setminus (-\infty, -1) \cup (2, +\infty) \end{cases}$

۲

$$r \log_a^a + \log_a^r = 2 \Rightarrow \log_a^a + \log_a^r = 2 \Rightarrow \frac{1}{\log_a^r} + \log_a^r = 2$$

$$\xrightarrow{\log_a^r = t} \frac{1}{t} + t = 2 \Rightarrow t^2 + 1 = 2t \Rightarrow t^2 - 2t + 1 = 0 \Rightarrow (t-1)^2 = 0 \Rightarrow t = 1$$

$$\log_a^r = 1 \Rightarrow a = r$$

۳

$$(\log 5 - \log 3) x^2 + (2 \log 3) x - \log 3 - \log 5 = 0$$

مجموع ضرایب صفر است $\Rightarrow x \rightarrow 1$

$$\frac{c}{a} = \frac{-\log 3 - \log 5}{\log 5 - \log 3} = \frac{\log 3 + \log 5}{\log 3 - \log 5} = \frac{\log 3 + (\log 10 - \log 2)}{\log 3 - (\log 10 - \log 2)} = \frac{0,4771 + 0,3010}{0,4771 - 0,3010} = \frac{0,7781}{0,1761} = \frac{1,1}{0,3} = \frac{-11}{3}$$

اختلاف: $\frac{-11}{3} - 1 = \frac{-14}{3}$

۴

$$\log \frac{1}{14} = \frac{\log \frac{1}{2}}{\log \frac{1}{4}} = \frac{\log 5 + \log 2}{\log 2 + \log 2} = \frac{-\log 2 + 1}{2 \log 2 + 1} \xrightarrow{(\log 2) = \frac{1}{2}} \frac{2+1}{3,8} = \frac{3}{3,8} \approx 0,789$$

۵

$$\log_{10}^y = \frac{1}{\log_4^{10}} = \frac{\log_4^y}{\log_4^{10}} = \frac{\log_4^y + 1}{\log_4^{10} + 1} = \frac{\frac{1}{10} + 1}{\frac{1}{10} + 1} = \frac{11}{11} = 1$$

6

$$\begin{aligned} \log_{r^2}^1 &= \frac{1}{\log_r^1} = m \Rightarrow \frac{1}{\log_r^1 + 1} = m \Rightarrow \frac{1}{\log_r^1} + \frac{1}{1} = m \\ \Rightarrow \frac{1}{\log_r^1} &= m - \frac{1}{1} \Rightarrow \log_r^1 = \frac{1}{m-1} \\ \log_r^1 &= \frac{1}{r} \log_r^1 = \frac{1}{r} (\log_r^1 + \log_r^1) = \frac{1}{r} (1 + \log_r^1) = \frac{1}{r} (1 + \frac{1}{m-1}) \\ \Rightarrow \frac{1}{r} (\frac{1}{m-1} + 1) &= \frac{1}{r} m + \frac{1}{r} \end{aligned}$$

7

$$\begin{aligned} (1/f)^{x-1} &= (\frac{a}{r})^{x-1} \Rightarrow (\frac{r}{a})^{x-1} = (\frac{a}{r})^{x-1} \Rightarrow x-1 = x-1 \Rightarrow x-1 = x-1 \\ \Rightarrow \Delta = f + f(x) &= 14 \Rightarrow x = \frac{-f \pm \sqrt{f^2 - 4}}{2} \Rightarrow 9x+1 > 0 \Rightarrow 9x > -1 \\ \log_{r^1}^{(9x+1)} &= \log_{r^1}^f = \log_{r^1}^r = \left(\frac{r}{r}\right) \end{aligned}$$

8

$$\begin{aligned} \log_{r^2}^b &= \frac{1}{r} \log_r^b = \frac{r}{r} + \frac{r}{r} a \Rightarrow \log_r^b = r + ra, \log_{r^2}^a = a \Rightarrow r = r^a \\ \log_r^b &= r + ra \Rightarrow (r)^{r+ra} = b \Rightarrow r^r \cdot r^{ra} = b \Rightarrow r^r (r^a)^r = b \Rightarrow b = r^4 \\ \log_{r^1}^{(rb-1)} &= \log_{r^1}^{(r^4-1)} = (r) \end{aligned}$$

9

$$\begin{aligned} \log_{r^1}^{\frac{b}{a}} &= \frac{\log_r^b}{\log_r^a} = \frac{r}{r} = 1 \Rightarrow \log_r^b = \log_r^a \Rightarrow \frac{b}{a} = \frac{a}{b} \Rightarrow a^2 = b^2 \Rightarrow a = b \\ \frac{c}{a} &= \frac{r^a - b}{a} = r - \frac{b}{a} = r - \frac{r}{r} = r - 1 \\ (r^x \cdot \log_r^x \cdot \log_r^1) &= 1 \Rightarrow \log_r^1 = \frac{1}{\log_r^x} \Rightarrow (r^{\frac{1}{x}})^{\frac{1}{x}} = (r^{\frac{1}{x}})^{\frac{1}{x} \cdot \frac{r}{r}} = r^{-\frac{1}{x}} + \frac{1}{r \log_r^x} = \frac{1}{r^{\frac{1}{x}}} \cdot \frac{1}{r \log_r^x} \\ \Rightarrow r^{-\frac{1}{x}} \cdot (r^{\frac{1}{x}})^{\frac{1}{x}} &= \frac{1}{r^{\frac{1}{x}}} \cdot \frac{1}{r^{\frac{1}{x}}} = \frac{1}{r^{\frac{2}{x}}} = \frac{1}{r^2} = \frac{1}{r^2} \end{aligned}$$

10